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2. (25 %) Please use the convolution integral to find and plot the step \

response whose impulse response is shown below :

(1, 1<t<4
h(t)—{O, t<1and t>4

3 State and prove the Laplace Transform L{-} of the following function

£(t), respectively. Note that, if £{f ()} does not exist, then state and
prove the reason. (5% each)

1) f(t) = e, where a € C (complex numbers).

2) flt)y=¢e".

3) f(t) = cosh bt (hyperbolic cosine), where b> 0.

4) f(t) =u.(t) =0fort <c, where ¢ > 0; 1, otherwise.
5) f(t) = te".
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